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I. Find the distoance ﬁ\om the point to the \ine

(2,1,3) A= 2+2% , Y= 1x6% , 2=2

Sod The peremefic €°W of the |ine T8
(%x,¥-2)=(2,1V,32) ++(2,6,0)

So Poim'\‘ (2,1,3) & on Fthe line , and the distonce
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2. Find pooroumnetic eqmﬂons ?owr The \ine Thed 1s WQA+

Yo the %?Ve,n Qe O Fhe 3‘\\&;» Povmme:\‘@x\ volwe $=7Vo

o P il B r _
vy et T T T elat R, tes|

Sod  Find o POt on The ITne and the Airection of he \ine
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3. Findthe owc length poro-meter o»long The cume 'Evom The
poist where t=o by evol \Ao:ﬁng The Infegrol
s=(T1weidr . (¥ the velocity vector)
Then \C\“r\c)\ The \Q,Y\S‘\ﬁ\, of the Inavcosred porTion of The cune
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\{. Vertical and horizontal lines

a. Show that every vertical line in the xy-plane has a polar equa-
tion of the form r = a sec 6.

b. Find the analogous polar equation for horizontal lines in the

xy-plane.
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Cu. Al VOJF\‘YCO»\ lines  howe the +orm  X=C.
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Polox coovrdincie X = Ycosb .
Then Po\o»v e,C\\AD:\‘\‘on [Ys Ov= X=yYycosb

= Y= X =0 5ech
cos B

b. Sod All hoyrizowtod lines howe The %\J‘W\ Y=b
Polox coovdinede Y= ¥8in®
=> b=Y = vsind

= Y”:Eb@: bcse®



S, Find The S\OPQS oS-’ +he cuwrves o The giver Fotn“vs
Sketeh Fhe crves ol ong wiyh Theie ‘\‘omae,n‘\‘s 93
These POTW\‘S
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~=cos20 ot B6=0, 5 ,TU

Slope W = (XS Y ) > )zﬂzm greph
S\DFQ, = %\\—\; = -g'(rx)

Lo polor coordinafes, polow equedton ™=Y(8)

:> %"X:\{‘C,OS@ = Y(B)cosbp =: X (©)
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Tn The Fextbook | r\egocﬁve, ™ Ts odlowed
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For ™<0 , (r.9) <> (lr),9+T)



S. Find The S\OPQS of +he curves o tThe givery Potn‘hs

Skefeh +he cnrves o) ong wiyth theiye ‘\‘omxje,n‘\‘s oo%
These POTN\‘S
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